Reminder: 12.6 Notes
Factorial: 4! = (4)(3)(2)(1) = 4! = 24
n! = n(n-1)(n-2)---(1)
0! = 1 (special definition)
NEW!! 12.6 notes

Factorial in graphing calculator:
MATH [« PROB 4:!




NEW!! 12.6 notes

Factorial in graphing calculator:
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Binomial coefficient: for (a + b)"
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Binomial coefficient example:
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[No calculator
12.6 #1-4, 11,12, 17-19, 27-29, 33
(Note: only use Pascal’s Triangle for #2 and #12)

4. Toexpand (a+ b)", we can use the Theorem. Using this theorem, we find the expansion

(e (o ()

- T 4 4 4
(a+b)' = (Oja“bo +(£11 a’b +(2ja2b2 +(3jalb3 +( 4ja0b4

41 41 41 41 41
014! 1131 212! 3110 410!

(S

Sdm e -1




[No calculator
12.6 #1-4, 11,12, 17-19, 27-29, 33

(Note: only use Pascal’s Triangle for #2 and #12)

11. (Xx%y — 1)@ Change the instructions to

See V\e,)(“' Sl\O\QQ/
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12.6 CHECK EVENS
12. 99+70+/2 18. 56

28. 16A* +32A4°B*+24A4°B* +8AB° + B®

More homework examples will be
posted after class on Monday!!!



